TAOE A

OlLX] 22 201 A9

SCTGONYUM

L0 [EPNESEL

H|A} MC529} |50 37| AH|ZF 50%0]4F =
% X/B Z Efelo| A4

Zt

° _T'_7|-7(-IOF
ZHWE 11X ZHE 10mm
o XYUMOR =2 ST
0.18MPa~—83kPa %I3 2i=
o LiZ TS5 TE
2 SC1 AlZ|= OI2E =Y x|
o MA Efxf
& &l 3 HREE Ko 7|s
o Oj=z|#o|M o X7| B 7X| 7Is
o MK} 2Z SRk HHAl 943 st YR
- S2, DB BH7ks)
« A~ES 9jF0| B3 o HF 7| 7ls
- 22 E0llM Ar97}— 22| 220| SIAHNM AR 7K
BAmS
(D @03 @6 6 @6 6 .
@E;(-HEOl @Hl Higt
|:1.E ol =
T i Z5
27|15 097t S
@ =ZEY
B | o18vPa © 28
| 1] 1o 4] a4
5S 2 [ ot 5 | o
5| 05MPa 3 3cf 6 6rH
B
R | L ® == E20Es
— o] e 3] 3
T 0.35MPa 1 1CH 4 plu]
2 | o 5 | o
@ A [—
V8 MPS-V8 @ oz
Vo MPS-V9 1] 1eE 4] 49z
10 MPS-10 2 |29z 5 | 59%
77 NN g2 3 | 3¢x 6 | 69%
@ x| s © |
C | s e 5 7l Hi7]
N | oxesgs c | ZBuwiF1.2)
1) ILIBE EfloiA TEH7IZ AIZ5ts ZRok= o]
BRAE] P e Sl Zie S, RIS Sy
B AAI =S ENYEHR| B2 SC1S HLIBEE ARS5IR! Tl
W_APTES|X(F 1) 0017} ZBTZO WHHLIZHHE THsH0| ULICH
F 1) A7 Bt fX| TR @WHE MEE F L2, F 2) Tyl B0 M 1S &oF, IR =B HUE B,
otz Aol ofLix| Hof 752 g + giaLrt 83 7IE HAE F gt
HAHIX S{AIHS
TTE o5 X st
T il i o AUHALIX|(OY - FIFLIAL ZF)
o AlZ XxpHH o ZIE| HZ|HE MPS-V8-SC1
Otz - TI—'?'—LN Z3) SC1-E(574 ME) MPS-V9-SCi1
CKV010—4E o OiL|ZC H|o]A MPS—10-SC1
) MM A2 PR0E AHEE FHAR - — =) Atx] Afere = 2zl =Al
S 1 m Z) MMl AFS2' P356' 358 3612 A=sH FAAIR.
o x| ot o wpa SC1—(MB][1]
(FtAZL - FELIAL 28 B [ [NEEREES
LV290—4E MB | JHeH7 | 1 19E 4 | 4%x
=) MM AISS! PR0E RS FAIAR, ME | EiEHi7] 2 20 ) 5¢ix
3 3% 6 | 6%

29



NS
E= T X B 5S \ 7S 1S \ 5R \ 7R \ 1R
ALE 24 235 Y=37|
o2z T 0~55 (h SZ0| Y2 A)
LS o EHe MPa 0.1~ 055
35 37| K2 A - Xp7| 22 RK|
A= MPa 05 0.18 05 035
=t e T = kPa -0 -83 -87 -87
=o| o8 0/min(ANR) | 85 10 55 \ 11 \ 20 4 \ 9 \ 5
R mpo| S2f 0 /min (ANR) |40 (at: 0.5)| 20 (at: 0.2) 40 (at: 05) 30 (at: 0.35)
Zy| AHf 0/min(ANR) | 10 10 10 \ 25 \ 50 10 \ 25 \ 55
HRpEE Apt
A = CKVO10—4E LV290-4 =
Saa7| FEAEH N 7| 22 KX
HzAEY \% DC24
Gy Al % =10
AH| M= W 1 1.3/15
HA ZajA B Class
=5 2% Non—Lock 4!
BA| - MX[ZIE LED, Clo|RE
HiM 2l=M 2k 7{41E(300mm)
F)HH S8 FoUAME K7 B /K| 7S ™A WE'E =I5t A A|2(P26)
¥A7|S
SC1 0|0 S|Z= (A Al ) SC1 ol 3|Z= (X}7| 23 KX)
,,,,,,,,,,,,,,,,, i e ey
1 2 %21
3 3 H
10 vé 10 vé
| 1, e 1 — 13 ‘ ‘ 1 ]2 [ — 13
i e | P il e s T
i I A 2 ! i I A 2
o | A
o o
| ‘ |
1 2 E } 1 2. >
3 3 3 |
10 vé 3 10 Vé
1 2 1 A2 L e i te
L—‘ 1 3 L—‘ 1
A 1 L
"""" <HR <H 4]
V V

30



SC1

[0 /min(ANR)]

3

nj0
oF

M= 1 EH Il
CIX|ZDOIEE So0|oa
= = 7tn_l"ci =] F'—':!:)g = l:rl'rc>F
100- 25
Bl %R
” N N
1R —
80 — £ 2 «
——X
70 %S —=—B
« ——X = l —h—5S
60 X DZ: 15 4 &5
X —a—B $ —1 1S
50 %S % o-5R
40 —EXR ; 10 — — \ ~-7R
= — RN 7R S o
30 nio
OF
20 V 5
10
D0 05 0.10 0.15 0.20 0.25 0.30 0.35 0.40 0.45 0.50 0.55 0.60 oﬂ 05 0.10 0.15 0.20 0.25 0.30 0.35 0.40 0.45 0.50 0.55 0.60
23 27122(MPa] 82 37 IE(MPe]
= E i
37| AHIHEY SC1: £ RT3 YH SL Il
° 1R 100 100
A
60 P
80 80
50 1S ——x _ 55 _
20 e o o // - F
7R |15 ol o
0 o 5R E:l 1R E&‘ s
~m-1R 40 40
o Ho 1s Ho 8
. R 3 // "
A
e 20 20 #
10 S
—
0 W77 0 0
0.1 0.15 0.20 0.25 0.30 0.35 0.40 0.45 0.50 0.55 0.60 0 5 10 15 20 0 1
3= 37|¢EMPa)
Six| A Ctof -
SR chl 2 mm
Al=ELOI
o= EI' [=]
=P
MIA]
21 ntn| Mo Z1Z Ul oS TIZAIN
2[=M Z0] : 300mm =M 200 : 300mm A0[= Z0[ : 2000mm
A |SBRAAE A f N
1
- m
i
s
1 H --T
M5 20| 5 II" "II 1iadl ; - M5 201 5
PRE o -H 7 o T —r o el
) ::g E - =
~ = = l L = - —
| . R
o | RETHTE i =
> ! ! Nir—— _
T T Rsidmib died] | ! I
- - — - e - — {4
_ 2-03.5 10.9 38 10 5
ERE ;
P
92.5 10
94.5 3.5

31



SC1

DEETETIES £49] mm
DiLIZEE EFQ(ZHE vH71)
MM 2=}
NCESIE 2 | 3] 4] 5 ] 6
4 A 20 | 305 | 41 | 515 | 62 | 725
; B 27 | 375 | 48 | 85 | 69 | 795
£ << m
{
AP |2 RRX M ETHA| r[;l
i
2-Rc1/8
=7 n-M5 i B B
]
37
m ki
i ACA A RUAROA
| ST
L
1 10| 13.5P105¢ (n-1)
100.5
1025 3.5
DiLIZE EIQ(ES Hi7I)
MM 2=}
NCENIEE 2 | 3] 4] 5 ] 6
g R A 20 | 305 | 41 | 515 | 62 | 725
: .| . B 27 | 375 | 48 | 585 | 69 | 795
T
4 _:}
y zn
2-Rc1/8 {w.,
PEE ! F]rL [} [} L] ']
}" '* i) . T-_E ;I'_,Ms I
. ﬁ). Dot 1 -<»@ ;L?+ _._._.__..2
= |t - e - — ekt L1 443
2-Rc1/4 91 2 10 13.5|P10.5% (n-1)
EZE 104.5
106.5 3.5

32






